














The diagram shows the effect of a tariff on the domestic shoe industry.
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What quantity of imports will be demanded, following the removal of this tariff?

(A)
(B)
©)
D)

5000
15 000
20 000
30 000

10. What is an economic cost to an economy of an unequal distribution of income?

11.

(A)
(B)
(©
®)

An increased level of government welfare spending
An increased incentive for people to raise labour productivity
An increased incentive for people to save

An increased level of consumption spending

As a form of protection for domestic industries, why are subsidies preferred over tariffs?

(A)
(B)
©)
D)

Subsidies are easier to impose and create greater efficiency gains than tariffs
Tariffs tend to benefit consumers because they lower inflationary pressures
Tariffs tend to generate greater retaliation from trading partners than subsidies

Subsidies are government expenditure and are more likely to be reviewed
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Question 23 (10 marks)
The table shows selected data for a country with a labour force 12 million people.
Year Nominal Gross Consumer Price Index Unemployment
Domestic Product (CPI) (million)
(GDP - $m)
1 380 100 2
2 416 104 2
3 450 110 1.8
4 475 115 1.8
5 520 120 1.8
(a) Calculate the unemployment rate in Year 3. ¥
(b) Calculate the real GDP for this country in Year 2. 1
(c) Discuss the effects of inflation on the residents of this country. 3
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Question 23 continues on page 15
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Question 24 (10 marks)

They (the Australian people) need us to put the conflict model of workplace relations that led
to "Work Choices" firmly behind them ~ and to replace it with one built on the principles of
balance, faimess and simplicity with an over-riding objective of boosting national ¢conomic
productivity and prosperity.

The Hon. Julia Gillard MP

(a) Distinguish between an industrial award and a collective agreement.
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Question 24 continues on page 17
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